Uka Tarsadia University (Diwaliba Polytechnic)

Diploma in CE/IT/Environment/ME/EE/Civil/Chemical
Engineering

Assignment (Mathematics — 1)

Unit:1 Logarithm

Answer the following

1. Write the Power rule for Logarithm. didlRau Hi2 aldl [AaH dvl.
Write the change of base rule for Logarithm. cldl[xa4 Hi2 Aoy iig oln-ll
[, vl

2. Convert the following logarithm form into exponential form. ( <l
AIIZIAH 293U Uld 2AUHL 524L)

1) logs 25 =2

2) logs 36 =2

3. Convert the exponential form into logarithm form:
aldisld 2a3ud dlaElsH 293uHL 3UidRA 520

(1) 2°=16  (11) 107°=0.001
4. If (41 loga (2433/9) = 2.7 then find the value of (dl (544 2liHl) a’.

5. Write the Product rule for Logarithm.
13[4 HIZ ELsIRAL (A4 Uil

Write the Division rule for Logarithm.
AIORUH HI2 MIDLSIRAL [A4H Qv

6. If (s¥1) logx +2logx =log27, then find value of x (dl x <l $[ud 2li=).

7. Solve (Gs4l): logg + logz + logg

8. Solve the following equation (2uda A¥ls26L < Gs4l): logy+log (y—1) = log2
9. If(s¥l) logx + log(x — 4) =log 12, then find value of x (dl x <l slHd gli4l).

10.Solve (Bs54l): log, 4108216




Answer the following

=

9.

If (s41) a® = b® = ¢* = d°, then prove that (Al Al[4d 521 %) log,, bcdzg.

Prove that (2U(5d 521): log, x% + log, y* +log, z* = 24.

Prove that (4L(5td 531): logl —+ 10g1 —+ 10g1 —=2
6 12 8

If log(x +7y) =log4 +§ logx + % logy then, prove that x? + y? = 14xy.
Prove that (L[5 521 5): log[y + y2 + 4] + log[y — ¥ + 4] =- 4.
Prove that (4L[3Ad 531): log,, x + log,,2 x? +log,,s x3+ log,,+ x*= 4 log,, x.

1 1

Prove that (1[01d. 531): oes T Tog s |
2 3

-

If (s¥1) logayy=a, 10gs,2y=b and 10g,3y=c then prove that (dl AL[61d 521 %):
abc=2bc—1

Prove that (AL(5td 531 5); x(108Y-10g2) 5y, (logz —logx)  ,(logx-logy) — 1

10.Solve (G54l): logx + log(x —5) = log6
11.Prove that (4. 53): 23 log(5)~6 log(=2)+10 log(2)=log(10)

12.Prove that (ALl5td $31) : 3[a'%% %% .p 10971 . ¢ 108a7109)=3

13.Find the value of Y from the given equation: (<l2l<ll #5201 uzell Y <l slHd

2 log3xlogY

WAL

085 = log 27

14.1f (s91) log (%) = % (logx + log y) then prove that (dl Usd 531 %)

x4+ y? = 6xy



Unit 2: Determinants and Matrices

Answer the following

Define Row Matrix. (R1 2254 ol cdlviL[Ad 52.)
Expand ([42dd 521 the determinant: |(2) _8| :

Give the example of column Matrix. (siaH {254 < GEls2i iLul.)
Expand the determinant ([d2dd 53l) : |i _1|

Explain the Null matrix with example. (<4 H[254 BelszBl <{l Heedl unmal.)

~ x_y _
Prove that (L[5 521 5)| Y x +y| x?

What is an Identity Matrix? (25322 254 2124 «‘ZO'L?)
Solve (G54l) [x +1 2 ] =0.
x—2

Give the example of Square matrix. (2592 H[254 < GelEL 241Ul.)
x + 5| —0

© o N o o B~ w bhPRF

=~ N 4‘
10. Solve(Gsdl |
ve( )x+3

Answer the following

1 |f(6ﬁ)A:[i i] and (M:L)B:[(S) ;] then find AB.

1 -3 2
2. Find minors of the determinant ([<22125l WIS LIHL): -2 1
—4 2 4
3. If (7)) A= [; i] then find AZ.( A% siitl)
4. Find the inverse (942 2l4l.) of matrix. [43} 3]
5. If(o%l) A= [; ﬂ then show that (z2lldl 5) A* — 5A = 21.
6. Find the inverse (94 2l4l.) of the matrix A = [g (1)]
-2 4 1
7. IfFA=|5 —10 3 [, then verify A Exist or not? (4514l A* 1Rdcami 9% )
3 -6 11

cosec 7 cot 6

8. Prove that (L[51d 531 5): | cosec

|=1.



1 =2 2 3
9. If(M)A=|-2 1 ]and (#d) B=|0 —6]|, find (2i4l) 2A-B.
4 3 3 -2
1 2 3
10. Find minors of the determinant ([A221451L HISIA 2AlA): |5 4 6
8 9 7

Answer the following

1. Solve the system of linear equation by inverse matrix method (<142 {254 ugAld szl 2vily
AHlsz0l (z2H Gsdl): 2x—3y=6xy and x-y= xy

0 5 0
2. Find cofactors of the determinant ([sas<l sig522 2Hl): |2 6 8
5 —6 2
1 2 3 12
3. If(s¥l) A= ]and(b{?t) B =2 1]then find (2l4l) AB and BA.
4 5 6 1 2

4. Solve the system of linear equation by inverse matrix method
(9 Hlzsd ughala gl 2ol uHlszendl (24 Gsdl): 5x—3y=11 and 3x-2y=-1

5 3 -1
5. Find cofactors of the determinant ([(s22s-l 515522 2iMl): |4 =3 0
6 1 2
—4 -3 -3
6. FA=|1 0 1 |[then prove that (L[51d 521 %) adj A =A
4 4 3

7. Solve the system of linear equation by inverse matrix method
(59 Hlzsd ugala gzl il uHlsedl Rzew Gsal): 2x—3y=4 and 3x+y=1

1 2 0 1 2 3
8. If()A=[1 1 o|land(@»td)B=|1 1 -1/, thenfind AB. (dl AB
-1 4 0 2 2 2
UL
5 6 7
9. Find cofactors of the determinant ([sa1s-l 515522 2lMl): -8 2 —1
3 —4 10



3 2 3
1 0 2

10. Find the inverse (9«14 2li4l.) of the matrix. A =

123]

-1 2 =3
11. Find the adjoint matrix (41152 H[25% 214l) of the matrix A = l 2 1 0 ]

4 =2 5
12. If = , then find (21i&l) a, b, ¢ and d.

b 3d—cl= |7 1ol thenfind (iiya b car

13. Solve the system of linear equation by inverse matrix method

(S Hlzsd ugald ezl 2l uHlszendl [Rzem Gs4l): 2x—3y+5=0 and 3x+y=9

1 7 =3
14. Find cofactors of the determinant ([l 515522 2AL): | -4 6 2
2 =5 3
-1 1 -1
15.1fA= | 2 —1 0 | find (2Hl.) A%+ 1, Where | is the Identity Matrix (6541 |
1 2 -1

-~

2158 [22] 25 ©9)

~



Unit 3: Trigonometry

Answer the following

1. Convert 60° into Radian measure.
60° < 2[4l HIUML 3UlAl2A 52U,

2. Evaluate (2l181): sin (%)
3. Evaluate (2iHl): cos (g)
4, Convert i—: into Degree measure.

2 3 dlofl Wi 3uidfd 52,

NN

5. If (5%1) cosb = - %, g < 0 < 1 then find (Al 2l4l) sech.
6. Convert 45° into Radian measure.
45° 4, 234 HIYHL 3UidRA 521
7. Convert radian measure into degree measure (&2 Hiu (230l HIUHL 3UidRA
Sy, l
52): —
8. If (5%1) cosA = % and (1<) sinA = \/; then find the value of (dl [54d 2l&)
sec’ 4 + tan’ A.
9. Evaluate (2lH): sin”™' (\/;)

10.1f (o71) tan 0 = —, % < 6 < then find (i 414l) coto.

Answer the following

1. Prove that (AUstd 531): sin30 + cos36 = (sind + cosB) (1- sind ] cose)

2. Evaluate (2UH1): sin (- %”)
3. If (s41) cosA= 1—53 then find (dl 2U&l) sinA and (1<) cotA.
4. Prove that (Al[o1d 521): sin™* (g) + cot (%) =7/,



8.

9.

If (5¥1) cosA = 1—53 then find (dl 241) sinA and (¥A<) cotA.

If (671) sind = - g m <0 <= then find (dl 4140l) tano.
If (1) cosa = =, (0 < a < ™/,), then find the value of (dl (5 4liil)

seca + tana.

~e

Evaluate (414): sin(—>)

-~

If (571) tan = - 2, 7 < 0 < 7 then find (dl 414ll) sect.

10.1f (5¥1) cos A = 1—: then find (Al 2A1) sinA and (¥4<) tanA.

Answer the following

1.

-

If (341) A+B+C =T /,,, then prove that (dl 24L[5d 521 %):

tanA .tanB + tanB. tanC + tanC. tanA = 1.

2.

4.

Evaluate (<i4): sin® ™/, + sin? 37/, + sin® 57/, + sin? 77/, + sin® 97/,

Prove that (4% 521 5): cos 37/, g + cos 7/, o + cos 127/, o + cos 167/,
=0

If sin 0 :g (/5 < 6 < m), then find the values of remaining trigonometric
ratios.

-~~~

ofisin0 =2 (T/, < 0 < ), dl susll Busteildla 2l ik,

S.

6.

~.~. tanB+secf-1
Evaluate (214l); ————
tan@—-secO+1

Prove that (AL[51d 521 %): cot M/50 [ cot 37T/ZO 1 cot 577/20 ] cot 77T/20 0
cot I/, =1

If sinB =1—53, then find the values of remaining trigonometric ratio.



~ . 5 ~ ~ ~ NN,
5L sinf=—, dl sl oisl Bstafildel Aeid-l det Al

8. Prove that (L[5 531 3): cos /g + cos 37/g + cos °™/g + cos IT/g =0

cosec?0—sec?0

9. If (5¥1) tan 6 = V15 then, find the value of (Al (544 2i4l)

cosec20+ sec?0

10.Prove that (AL[6td 521): sin" 1 x + cos ™ty = xy + V1 — x2 [1 {/1 — y?2

11.Evaluate (20i1): sin® /¢ + sin® 37/, + sin® 57/ +sin” 77/, + sin® 97/,

12.1f sinb= 1—2, then find the values of remaining trigonometric ratio.
641 sinf= 1—2 Al uggl oigl Brstafaldel aptiddl Heil Al

13.1f sinOz%, (g < 6 < m) then find the values of remaining trigonometric ratio.
641 sinf= 137 (g < 0 <) dl ugdl otigl Bistafldel opliddl Heal il

~. €0s%0-sin?%6

14.1f (51) tan 6 = '3 find the value of (di (54d Q) ————

~. Sin6+sin30+sin 560
15.Prove that (U[5td 521): = tan 36
cosB+cos360+cos50




Unit 4: Co-ordinate geometry

Answer the following

1. Find the distance between the points A (1, 2) and B (2, 3).
YiHezd A (1, 2) i B (2, 3) 423, vid2 2lAl.
2. Find the x and y intercepts for the line: 2x + 3y + 12 = 0.

2x + 3y + 12 = 0 Al X 2 y 2id:vigl Al

3. Find the slope of line when two points are given as A (2, 3) and B (-3, 1).

o126l USe2 A (2,3) 21 B (-3,1) dzls A 209 89 AR ALl slo1 LM,

4. If the distance between the points (2, 7) and (-6, n) is 10, then find the value
of n.

6%\ [BAg1l (2, 7) Bhel (=6, 1) A2, 2id2 10 €9, dl eIl n | HeA 2lAl.
5. Find the equation of circle having center (6, 7) and radius 5.

5¢6,(6, 7) 2 BLowil 5 8219l ddui- dHls2e il
6. Find equation of line when the two points are (1,2) and (0,3).

owdl2 61 (G121 (1,2) 2A< (0,3) SIA AR 2L U+l 2iAl.

7. Find the x and y intercepts for the line: x -4y +12=0

x — 4y + 12 = 0 Al X A y 2id:vigl il

8. Find the mid-point (H=1-[5tg, 2lisl): (1, 3) and (0, -4)

9. Find the equation of line which is parallel to the line 4x+y+12=0 and passes

through the point (1,0).
Al dx + y + 12 = 0 <l AHidz 244 (o1, (1,0) Rzl w12 2dl 20, wlszel

AL

10.Find the equation of the circle passing through (1, 2) and having center (2,
3).
(1, 2) Hizdl AR Adl vied 5¢ (2, 3) HRUAAL Ao, AH]5200 WAl

11.1f the end points of diameter of a circle are (2, 4 ) and ( 2, -1) then, find



radius of the circle.
64l Aduel AL DA (B2 (2, 4) 24 (2, -1) SlA, dl ada<dl Boewil Al

12.Find the distance of the point (3, -4) from the origin.

Ban [o1g 4l (3, -4) [5ig < %idz i,

13.1f the distance between the points (4, 2) and (—4, m) is 10, then find the
value of m.

4L [B1E211 (2, 7) @A (—6, M) 42 2id2 10 €9, dl el m < 4t Al

14.Find the x and y intercepts for the line: 4x — 6y — 24 = 0.

4x — 6y — 24 = 0 ALl X Bl y Bid:vidl QM.

15.Find the equation of circle having center (3, -4) and radius 3.

56 (3, -4) vt Bswal 3 4R1adL adoid wHls2e 2l

Answer the following

1. Find the acute angle between the lines (2AUE QLS 4221 desiBL 9lIHL.)

x—y=0andx+y=0,
2. Show that the points (-1, 0), (0, 0) and (2, 0) are collinear.
odldl 5 W2 (-1, 0), (0, 0) #i (2, 0) UHI™ 9.

3. In AABC, A (1, 0), B (K, 0), C (0, 2) and mzB = % then, find the value of K.
AABC 4i, A (1, 0), B (K, 0), C (0, 2) 2 mzB = % 29 dl K < yeu Al

4. Find the value of P for which the point (-2, 1), (0, P) and (3, 3) are collinear.
P < He, 2lAL sy<ll HIZ (01, (<2, 1), (0, P) 24l (3, 3) UHU, €9,

5. In AABC, A (1, 2), B(K, 2), C (2, 1) and mzB = % then, find the value of K.
AABC 4i, A (1, 2), B (K, 2), C (2, 1) »ld mzB = % 29 dl K < e Uik,

6. Find the equation of tangent and normal to the following circle: (<2
AdNl 2uds vt Adad uHlsel dibl): x*+y*—4x—6y-1=0 at (1, 1).

7. Find the acute angle between the lings (2AU& Al 4221 deslBL ML)



x—y+12=0and x —y+ 54 =0.

8. Verify whether the given lines are perpendicular or not. (2UNd Al dot &9
sddldasidl): 2x —3y+7=0and3x + 2y + 1 = 0.

9. Prove that (2,0), (0,2), (-2,0) and (0,-2) are the vertices of square.
AUcd, 5215 (2,0), (0,2), (-2,0) 244 (0,-2) [Grgoil AlRAUAL 2ll=UB1z21, 9.
10.Prove that (1,4), (4,5) and (5,8) are the vertices of isosceles triangle.

AUcAd, 5205 (1,4), (4,5) 21 (5,8) [sagil uugdloisy sllsipil glifoigil €9,

11.Show that the points (1, -1), (5, 2) and (9, 5) are collinear.

oAdldl 5 WISz (1, -1), (5, 2) 24 (9, 5) UHIW 9.

12.Verify whether the lines x — y + 7 = 0 and 6x — 6y + 5 = 0 are parallel or
not?

X-y+7=0%d6x-6y+5=0=0 bl AHIAZ 9 5 ] d 5112

13.Prove that (1,0), (0,1), (-1,0) and (0,-1) are the vertices of square.

~N

AUcAd, 5215 (1,0), (0,1), (-1,0) 24 (0,-1) (G122l Al ghlUloiz211 9.

-

14.Find the acute angle between the lines (2AUE QLS 422l des5iBL 9lIHL.)

V3x—y+12=0and x — 3y + 54 = 0.
15.Find the equation of tangent and normal to the following circle: (<l
AduleAl 2udls W Al Als idl): xP+y*—2x—4y—1=0 at (-1, 2).



Unit 5: Vectors
Answer the following

1. Find Modulus of given vector (#4104 A4[za g Hi M) @
2. Find unit vector in direction of @ = (1,1,1)

a = (1,1,1) il €lausi 2is4 <l qAl.
3. If (1) @ = (2, 0) and (¥i<l) b = (0, -3) then, find (dl, 24l) 2a + 3b.

(1,-2,3)

4. Find the angle between vectors @ = (1,0,1) and b = (1,3,2).
a = (1,0,1) i< b = (1,3,2) 423l VBl 2AL.

5. Evaluate (UHl): (4i — 2j + 3k) B (i + 2j + k)

6. If(s¢1) p(1,0,0) + q(0,1,0) + (2, =3, =7) = (0,0,0), where(ss4i) p, q, T € R
then find the value of (dl (544 214l) p, g and 7.
7. If () @ =(1,-2) and (¥A<) b = (2, 3) then, find (dl, WH) [2@ — b

8. Find unit vector in direction of a = (2,1, —1)

-

a=(2,1,—1) -l laumi visv «<la kL
9. Evaluate (2UAl): (i —j + 4k) B (i — j + 2k)

10.1f(s¥1) p(8,0,0) + ¢(0,9,0) + r(3, =5, —6) = (0,0,0), where(ssdi) p, q, r € R
then find the value of (Al (544 2WH) p, g and 7.

11.Find the angle between vectors @ = (—2,0,2) and b = (1,2, —1).

a=(—2,02) s b = (1,2, —1) 422l Il 24l

12.Find Modulus of given vector (2U4d A[29l < Hi- 9Hl) @

13.Find unit vector in direction of a = (3,2,1)

a = (3,2,1) -l Zlausl 2154 A€la Al

14.Find Modulus of given vector (2UU& A(e2l < Hid 2iHl) @ = (2,—2,2)

15.1f (%)) @ = (i —2j + k) and (@) b = (2i +j — k) then, find (dl, 2Hl)
allb.

(4,-2,3)



Answer the following

-

If (¥l) @a=2i+2j, b= 3i+3k and (»d) ¢ = 2k + 2i then find (dl

WAAl) |@ + 3b —¢|

2. A particle moves from the point (j + 2k + 2i) to the point (3k + 2j + i)

under the effect of constant forces(3i +j — k), (2i —2j +4k) and (i +
3j + 4k).

(Bi+j—Kk), (20 —2j +4k) ¥ (i +3j + 4k) ol 28l 315 5@ W<z
G + 2k + 20) 4l Uiz 3k + 2j +1) YAl 22id2 52 69, Al 224 5134 Al

3.

8.

Find a unit vector perpendicular to the plane of vectors (£lgll <l wad « €ot
sisHuclo ) a = (i —3j+k)and b = (2i —j + 2k)

Find (20&l) @ — b and also find unit vector in direction of @ — b (24
a— bl [z ni sisH Al A for a = (1,-2,4) and b = (2,3,—1)

Find a unit vector perpendicular to the plane of vectors (£lgll <l wad « €ot
visH ueld Q) @ = (2 —j+4k)and b= (i +2j — k)

a=—-i+2j, b= 2i—kand ®-) ¢ = k+ 3i then find (di 2l
|2a — b+3c

If (3x1) @ = (1,1,2) and () b = (3, —2,1) then, find the following (dl, <l
wiug Al () axb (ii)a@db

A particle moves from the point (j — 2k + i) to the point (k — 3j + i) under
the effect of constant forces(i + 4j — 3k), (—2i — 3j + k) and (i — j + 2k).

(i+4j—3k), (=20 —3j+k) 2 (i —j + 2k) ool 2224l 2i5 501 W2
(G — 2k + i) dl widez (k — 3j + 1) YAl 22idz 52 €9, dl 234 514 2Al.

9.

Find the cross product of @ = (2,—1,2) and b = (1, —2,1).

a=(2,—1,2)2d b = (1,—2,1) <l 514 U252 Al



10.Find a unit vector perpendicular to the plane of vectors (M£lell <l vad « dot
wisH Al W) @ = (4i —2j +3k)and b= (i +2j+k)

11.1f (s91) @ = (1,—3,—2) and (M) b = (1,2,1) then, find the following (L,
2 2uua M) (axb(i)a@b

12.Find (204l) @ — b and also find unit vector in direction of @ — b (¥
a— b <l [zau wi 2154 «ulza 2k for @ = (2,—1,3) and b = (1,2, —4)

13.Find the cross product of @ = (1,—3,1) and b = (1, -2,2).

a=(1,-31) 34 b = (1,—2,2) -l s1x Uiss2 Al

14.A particle moves from the point (2j — k + 2i) to the point (4k — 2j + 2i)
under the effect of constant forces(i + 2j — 2k), (—3i+j— k) and
(i — 2j + 3k).

(i4+2j —2K), (=3i+j—k) ¥l (i — 2j + 3k) o1l zizzedl sis s0 didez

(2j — k +2i) el iz (4k — 2j + 2i) YAl 221did2 52 89, dl 234, 514 2k,

15.1f () @ = =3i+2j, b= —3i+ 2k and (<) ¢ = —2k — 3i then find

=~ N, b |

(AL WAl [2a — b—2¢



Unit 6: Mensuration

Answer the following

1. Write the units of area and volume. (#1501 24 521l A5 &)
2. Find the surface area of square of having the length 5 cm.

5 cm &5l HR1AdL A4 A50 M.
3. Find the surface area of rectangle of having the length 4 cm and breadth 5 cm.

4 cm GOl Bt 5 oM UGLOUS HRIAAL oAU Ho50L M.
4. Convert 5.6 m? into cm2.
6 1222 4 4. 4Hl.2 ui 3uidR 53l
5. If area of a circle is 154 sq. Cm then, find radius of the circle.
oL wis Ad0 < s AUy Al AHL S, dl d<dl Biera ek,
6. If the ratio of radii of two spheres is 2:3 then the ratio of their volume?
oL ol <{l ol ABLTR 2: 3 69 Al Ul dAul 52 <l IpllR?
7. Find the area of a rectangle having length 3 cm and breadth 5 cm.

colle) 3 A4l 2t usionsS 5 AL AL dot, Al &g Al
8. Find the area of a cube having length 2 cm.

2 A4l Al dolsSatnl UneA doigo Al
9. Write down formula of volume for Cube and Cylinder.

01 vt (R[4 HIZ AU <L 42 QUi

10. The length, width and height of a cuboid are 12 cm, 13 cm and 15 cm respectively. Find
the surface area of a cuboid.

oSl cotls), Uslons i GULS s 12 A4, 13 A.HL. 244 15 A.HL o1l auidld
E2L50L 2UIML,

Answer the following

1. A cylinder is having radius 8 cm height 12 cm. Calculate the total surface area. (Take n
=22I7)

s [zl Biortl 8 Al A Guis 12 AL, €l dl 54 AWzl Axs0 ) aadd) 3.



2. How many square meters of cloth is required to prepare four conical tents of diameter 8
m and height 3 m?

A1, 8 Hl22 el BULD 3 422 <Al AR 2ig BUSIR Al doy AAIR 5291 HI2 526l 2 {2 51U or32l 97

3. Arectangular aluminum plate of 88cm x 40 cm is rolled into a hollow cylinder. Find out
the volume of the hollow cylinder.(Take m =22/7)

88 U4l x 40 ALl dotizy vieymlaH 1@z A sldl [Rlacsmi s2aami 2ud 9. vl sldl
[Ralaeg2 dieqn A,

4. The length of the one side of rectangle is twice the length of its adjacent side. If the
perimeter of the rectangle is 60 cm. Find the area of the rectangle.
cot2idl s ousyell dotls ded 208l ousy<l dorldel otmull 9. onl doaizudl uRMlA 60 Wl €ix
Al GotaliR<, &g Al
5. If perimeter of a square is 16 cm then find its area.

~ N .

oL AU URMA 12 A4 &9 dl d-l &z Al

6. Find the area of the trapezoid with bases of 10 cm and 14 cm and height of 5¢cm.
10 AL 24 14 AL upnanl 244 5 A4l GAHAL ZUAISLAL g0 M.

7. Find the volume of cylinder having radius 7 cm and height of 5 cm.
7 cm SHloril 21 5 cm GAL H21AdL AVUS1R<, LA 50l LAl

8. Calculate the amount of water in litre that can be accumulated in a tank of length 3m, breadth 2m
and height 0.5m.

(@2zHi wielldl Histidl audl 521 oy donlss 3 Hlzz,usios 2 Hlzz 214 Gl 0.5 Hlezl 2islHi 2iss
25 95 69,

9. If diameter of circle is 28 cm, find the area and circumference of circle. (take w = 22/7)
671 AdUle, A1, 28 cm SIA dl AUl ERA50L A uLle Al (= 22/7)

10. Find the area of trapezoid with bases 10 cm and 14 cm and height of 5 cm.
10 cm i<l 14 cm 613 w1 5 cm GALS H2AAAL 2UblEse, &5 Ul



